SMIZRSTE

BMB csp-2000(c)

R F' % BLiEHENGE BMB RHIOKEZF5.
Hq ﬂﬂ FRBNEFHBIETENFERRE, HHAE
RHIOKE FEENRIEFE,
(mm) -
{ERRI
Y e3¢ 30
336 ® i BRINR KM AR 1200 K (MMH) o MATIERA S THE L HIRFROKERE, DTS2 e = G e
FeTEEE 2 A
® AT IR KR T 1200 |, R B S RIE A, SOk SR B A, X
SR AR,
® FiinE B E TN, IR LM T “ORF (35) [,
® BUIEHLIEI LT E] “ONT (JF) (B, SHEIEE R A TR
EIE
O ® 1A B E TN, I LT “ORF” (35) [,
g ® LA =7 BRH 47 WAEINE (L. f ®) FEM =" W 47 W, KRS RS i
ST ME, (2 TFE, )
aHMizEzs SIEERIIR 55z
(IZFEzRImT)
® O

ARG R SRR AN IER, WIFFILE BT, BRI TR 32 213 R 2
* TR, 16 S NER AL R SRS DR

BEGES
© T IE EL AR R R b 2 7 53,
HLA B (P T SR I T
(S LI, BRI A RAES)/T 11369-20068E RIRLRTERLLT. © AT RHIOKEH I, WS T S SR R AL BRI S RGO, o AT T L

SN

a) WIERIEAEIEH R AF AT, B s s T H AR E.

AT 1, . b) 5474 BN AEBE Y 2 B 5 %,
Lesy SO 06y @it {02y =i ) MR A AR TERAIN SR |-, SORAGHCE, A G ES AR 2 A, 01 P S A T G TR
b °S HOPE R RT, AN 2% £,
o MREENEIMREGE R, 54 LT A B E.
T8
: : : K CSD-2000 (0) 4575 B LURAE LR 7 I, TR RETE AT LM 2
BMB International Corp. BMB (Shanghai) International Corp. S0, S5 5 AL B R T {5 T LR 2

(60-300-018-02)
NF05757-1.2



WREFRENE 7, AR WERARFIE, 175 B il K SR KIR . D120 (0 AR A Bt hs, OVl &
WA G FEHDRTET . 5390, 16 207 P dsbif A (5 P 275 H 7R s E s 71

IETRERD = 23 IERY LI AT

B iREFEZDFERMESHERNT 6 £ 32 Q SBEMA.

EE:
TE

(flan, 4 THEER)

WHBIE AR LE 4 3] 32 Q Z[A, {2, AMEFERH 4 Q 18 WRTEAERH 4 0 wE.

C FRIZEEH )
FBIZETEH 1 IFBIRETEH 2 FBIRESEH 3
6Q 6Q 6Q 6Q 8Q 6Q 6Q 8Q 80 8Q 8Q 8Q
(B 2RiRT) (B 2R T) (IBEaIHT)
Bsh: ARETN 12 Q. wih: AREFN 14 Q. i AR 16 Q.
¢ £iRIZEEA )

HIRIRESER 1

o e s
(HESRInT) (70 D) (HEERmF)

KW AEEHTTN 3 Q.

HIRIZEED) 2

KW RSN 3.4 Q.

HIRIZETH 3

K GRHSTN 4 Q.

e}
P

AT
WE b AT
S
SR
e

Rt

ey

H
T
H
==

BMBF™ i B L R :

AE

K& ARG
30 em REFHAEE x 1

8 cm  EHHA x 4
1200 W

500 W

91 dB/W/m

40 Hz — 20 kHz

8 0

568 (Bi) x 350 (&) x 336
18.5 kg

(&) mm

b 1%

1
1
01 22 [ v
EEPERERNA
+110
+105
g - y HEEN A
B s N NN |
-_ﬁ +80 \J\'\I\f\ aln l V\
e rami A
+70 ” \4
T | "
Vi v\
20 50 100 200 500 1k 2k 5k 10k 20k
$E (Hz)
FE B 2%
90
70+ A
ﬂ
5, |
= O
= |
40i
30f / J /\\
2o§ / \ =T
10 I "

5% (Hz)





